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9: int sum=0;

10: for(int i=0;i<num.length;i++){

11: sum+=num[i];

12: }

13: System.out.println(sum);

14: }catch(NegativeArraySizeException e){

15: System.out.println("ARIESBIIT1 X");
16: }catch(NumberFormatException e){

17: System.out.println("RIEREBHT—5");
18: }

19: }else{

20: System.out.println("/NSX—=HTS5—");
21: }

22: }

23:}
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(1) Building a=new Building(12);
System.out.println(a.toString());
(2) Building b=new School(6,20);
System.out.println(b.toString());
(3) School c=new School(25,125);
System.out.println(c);
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14: public void mousePressed(MouseEvent e){

15: pos[@]=e.getX();

16: pos[1]=e.getY();

17:

18: public void mouseReleased(MouseEvent e){
19: pos[2]=e.getX();

20: pos[3]=e.getY();

21: repaint();

22:

23: public void paint(Graphics g){

24: g.drawLine(pos[@],pos[1],pos[2],pos[1]);
25: g.drawLine(pos[2],pos[1],pos[2],pos[3]);
26:

27:}
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(A) final

(B) Thread

(C) throw

(D) abstract
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(F) synchronized
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(H) BufferedReader
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(3) java Final3 -1 0 1

(4) java Final3 1 Hello
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1: class Building{

2: private int story;

3: public Building(int s){

4: story=s;

5: }

6: public String toString(){

7: return story+"fEEE";

8: }

9: }

10:

11: class School extends Building{
12: private int lectureroom;

13: public School(int s, int r){
14: super(s);

15: lectureroom=r;

16: }

17: public String toString(){
18: return super.toString()+"/"+lectureroom+"sE&EZE";
19:

20:}
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1: class Final3{

2 public static void main(String[] args){

3 if(args.length>=1){

4: try{

5: int[] num=new int[Integer.parselInt(args[0])];
6: for(int i=0;i<num.length;i++){

7 num[i]=Integer.parseInt(args[i+1]);

8

}

1: import java.applet.Applet;

2: import java.awt.*;

3: import java.awt.event.*;

4:

5: public class Final6é extends Applet implements MouselListener{
6: private int[] pos=new int[4];

7

8

: public void init(){
9: addMouselListener(this);

10: }

11: public void mouseClicked(MouseEvent e){}
12: public void mouseEntered(MouseEvent e){}
13: public void mouseExited(MouseEvent e){}
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